deno = | nmport ["C. /User s /Dani el /Downl oads /hal fsin. xl s"]
demo [[1]1]1[[1]]

{1. 5708, 2.08961, 1.14018, 1., 1., 1.8044 % 10’11}

t =Table[{{dem [[1]][[k]11[[11], demp[[1]][[K1I[[311},
{-demd [[1]11[[k]I]1[[1]], -denmp[[11]1[[k11[[3]11},
{N[Pi'] - deno [[1]][[k11[[1]1], demp[[1]][[K]11[[311},
{-N[Pi ] +dem [[1]11[[k]]1[[1]], -demd [[11]1[[k11[[311}}, {k, 157, 1, -1}1];

t =Sort [Flatten[t, 1]17;

f

I nterpolationft]

I nt erpol ati ngFunction [{{-3.1308, 3.1308}}, <>]
Plot [{Sin[x], f[f[x1]}, {X, -Pi, Pi}, AspectRati o - Automatic]

InterpolatingFunction::dmval :
Input value {—3.14146} lies outside the range of data in the interpolating function. Extrapolation will be used. >
10t

05

Zosf

~10F
Plot [{Sin[x], f[f[x]]}, {X, -Pi, Pi}, AspectRatio - Automatic]
InterpolatingFunction::dmval :
Input value {—3.14146} lies outside the range of data in the interpolating function. Extrapolation will be used. >
10r

05F

~05F

_10f
Plot [{Sin[x], f[x]}, {x, -Pi, Pi}, AspectRatio -» Automatic]
InterpolatingFunction::dmval :
Input value {—3.14146} lies outside the range of data in the interpolating function. Extrapolation will be used. >
10F

05

-10F



